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OVERVIEW

%" said the reason the 0°non were 7 Jpnn by w3 is in order that the woman
should not lose any m7°® which is rightfully hers. Mo discusses when the 5v2
has the right to the m7°5 and when not.

— 21913 NYY 1Y MO TOaN K ‘0NN AN93 NN NYNN YNV 275
In order that the woman should know when the v was written and signed, and
so she will not lose the n19°2 from the date the v was signed until the time it was
given to her.

nooIN asks:
— IYIT NN (x,0p NINa Na2) VIV V) 79929 3N)3)’\7 INTN DAY ININND V) AN ON)

And if you will say; for this same reason, a post-dated v» should be 93,

however, in 11w w3 P95 it is evident that a 7mX» V) is w> -
— SIVD IMUYY 519%Y 2391 TY 19N 11Y ANV *IWrDn ‘v mNT

for "X°%n3 j2 X117 " there states that if the 2°7¥ on a =wip» v signed on the

inside it is "@> because he can make it into a W2 V) -
— 0NV Y P NIV T 3,109 NN 1NN TUIPNT ININD 19715 IN)

but then it will be a 9mR% because regarding a "wIp® vl the X713 there states if it

is in the first year of the king’s reign we count two years, however by a vWw» v3 we

write the actual year (72w 17 P2 mw 790) -
— 190 VIPN INDINNT 1YY NOY VIV 177 12 21NN 1310 19109 PV

So now regarding this 72 pPn which became a 15 they will count from the actual
time which is written in it as the rule is by a vy, for they will not know that

! 5" maintains that as soon as the v3 is signed the husband has no longer the rights to the Mm% (even if he did not
give her the vi yet). If there would be no 11, the husband would sell the m17"o after the v3 was signed before she
received it, and the woman will have no recourse for those n1°o.
* We are not concerned however regarding the n11» after the 7°'n1 nyw (not as it seems from Mo own 7"7 *"w1v);
for as soon as she receives the 03, the woman has the option of having 7"°2 (or any two 0>7v) write her a note that she
had the v in her possession as of this date.
3 If the v is post-dated, then the woman loses the n1° from the time the v3 was actually signed until the false post
dated 77 on the va (or until the 71°n1 nYw if he gave her the V3 before the post-dated jar1).
* In this context va refers to any 70w (not only a WK b3).
SA WP VA IS a VY written in a particular manner; after one line is written, the 70w is folded over on the writing
and the following blank line and is then sewn together, and the 2>7v sign on the outside (the back) of the writing.
And this continues until the 70w is completed (see '@ there Wwpn 71"7).
% The stiches can be torn and the 70w will be a regular VYWD va.
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initially it was a 9w p». The woman will lose the M7 from the time of the m°nn.’

nv0IN answers:
— NONN NYYN 1959 17091 HYAN PN ININNDIAT PNYY 13529 9IIN)

And the 5" says that by a amx» vi the husband does not lose the n19%2 from

the time of the signing of the v3 -
— 51t 19 029N PWITAN PNY ANIXY 1Y 13N 1959N 12 WY INT PPNT 1T DU KON

But rather he loses the m17°® from the time of the date on the v, for until that
date the v is not fit to divorce with it even if he gave it to her immediately

(right after it was signed), and the 2= will not be in effect until the date on
the v3.

Mmoo responds to an anticipated question:9
— 1901 1Y 21 DY DNNI XDV 99 DY 9N %9519 93 WAIY SN PYNY 2399 03 AN YaN

However, a ©v3 which was written by day is fit to be used for a divorce

immediately according to @''9, through the »"¥ even though it was not signed-
— (3,0 wy5) NP P92 19INTI SN2 N0 YT YN 395 120 PYNY 22947

For w'' agrees with R''9 that sn9o "'y as the X3 states in the first pap -
— Zm959 P00 5¥an PN 915 53 X9957 199993 WY INIT 23 HY N 13299

And the 3139 (even if they maintain °n7> »"V), even though this vi is fit for
divorcing, nevertheless since there is not even any publicity, the husband does

not lose the N9 until it is delivered to her -
— 93 WY N 9D YT 1Y 1NN DIPIDYYS YaN

7 She was actually divorced on 19°1 "3 of the first year of the king. However in the b3 it will be written that she is
divorced as of the second year (j0°1 11"1). If the husband will give her the v) after the second year (even on 10°1 11"7),
she will still lose a whole year of N17°2 (or a partial year if he give her the v before the Imx» 12a7).
¥ 1t is considered (since it is post-dated) as if he made a stipulation that the v should not be effective until the date
written in the v3. See ‘Thinking it over’ # 2. The woman , therefore, is not losing m7, since legally the m7» still
belong to her husband (and she is not divorced yet)
° mooin just concluded that the husband does not lose the m°> until the v3 is 12 W2 "X7; how is it that w"3
maintains 712°92 onnY 01" 2n21 is WO (by D°Ww1 *v), seemingly the woman will receive the M1’ from the day while
she should only receive the m7°5 from at night since that is when the v is effective (with the 0>7vi3 nn°nm).
10 Therefore, since it is 012 12 W% "X, the 592 loses the o2 M7 and it belongs to the woman.
" Tt is the A»°nm > that cause there should be a 91p. In this case of 72°22 onnn @12 an33 there were no 72°nn 79 by
day. Therefore the mmP? were not aware that a divorce is pending (so they should refrain from buying these n17°9).
The o°non therefore extended the rights of the 9¥2 to the m7%0 (for the day) so the mmp> should not incur any loss.
However if there would be a 917 before the n°ni (as nwon will shortly discuss), then indeed the 7¥2 loses the n"d
72°n2 nywn, since there is a 7 and there will be no unfair loss to the MmMpP?. According to the 1327 there are two
requirements for the 9¥2 to lose the M7°9; it must be 12 W37 X7 and 7P 17 v
'2 Therefore it is 7109 because the woman will collect the M5 from the date of the 712°n3, even though the v still
has the rights to the m7°» (as NMvOIN just explained).
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However in a case of 72°72 onnay 012 2n21) where they are still involved in the vx
(from the time of the 72°n> until the fn°ni), where there is a »17** and therefore

this 3 is fit for divorcing, in this case -
— *11PY 9mNTS 129N NYYN M Yyan Toon

The husband loses the n19°2 from the time of the writing of the v as the X7
states later (therefore the va will be "w>).

nooIn asks:
—NYNY V) AN NIYYD MN (3,1 91 AP 19IINRT PN 139299 DY

And the 59 has a difficulty; for the X773 states later; ‘he said to ten people
‘write a vx for my wife’ -

— 9129 NIYY 1Y NI TIN) 117913922 11172322 Y99 %2 12 OIHM
And two of them signed on that day and the remainder signed up to ten days

later’, in which case -
— Y5909y Y1y DIUN B9 N vIph YIve

5'"2 maintains that all of them were intended to sign as witnesses and therefore

the 03 is 2Y9D. This concludes the X773, Moo asks -
— 2 Y)Y N9 M m‘P 19 Y 1919 ININ)

But why is it 709, for this v3 has a 3 (since two 07y signed) and it is fit to

divorce with it -
— ¥nqwuyn by Papn N XY Yyan Ney 7Y ONT

For if the husband would have wanted he could not have been particular
regarding the ten people signing -

— 12 WY 9Wa RN DIYNIN 72 1MNNYN MY 109
And the husband should lose the n17’g, once the first two witnesses signed and
it should be =w> to divorce with this v3!

N1B0IN answers:
— 78919 10n°Y 1Y 91 1PN 0913 NN XYY PPN Y¥aNY It Y3 15 Y

And one can say; as long as the husband is particular that all ten should sign,

" The 0»7y are ready to sign (during the day); however they are held up by the details involved in the 3. In this case
these 0’7V cause a 7P even before they sign. See 7R 7"7 X,nm> Moo,
14 X,1° 77 (towards the bottom of the Tny).
' The o7y signed after the 127 on the v3; it is a DTPY L3 (see "W there 7"m1 7"7).
'® After the first two signed the husband could have changed his mind and released the other eight from signing.
Therefore once two signed it should be considered 12 w137 *1X7 (see n'"m3).
"7 The husband told all ten to sign, so even after the first two sign they are not X% a 9p; for they presume that
nothing is happening until all ten will sign.
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and they did not all sign, there is no > until all ten sign -
:DINNY PPIDY 1NOY IN
Or at least they are involved and preparing to sign.

SUMMARY

By a 7mxn va the woman becomes divorced at the date written in the 70w and the
%y2 has the M7’ until then. " maintains that w137 "X is sufficient to render the
qw> vx and the %¥2 loses the n17°9 from 732°n> nyw, while the 13127 maintain that it
also requires a 7 otherwise the H¥2 can still eat the mo.

THINKING IT OVER

1. Mmoo asks that a °mx» va should be 9105 but we know that it is w5 from the
case of 121 WpPn vi. Seemingly by a qwpPn VA there is no problem with M7°5 for as
soon as she receives the vi she can go to 72, etc. to verify the 71°n17 7. However
by a 7M1 vi (where he gave her the v3 on the 9mX»7 77), there the woman loses
the M°® from 7°10: a7 until the 71°037 177 and indeed it would be $109!'®

2. MvoIN states that by a AmX» v she is not divorced until the 727 written in the V3,
and the 2 has the M0 until then."” What is the situation regarding a Wwpn 03
19101 17V 12N0W that it is WD because VWD IMWYH 12°w. Is the woman divorced as
of now (since if it would be a 7wpn vi she would be divorced currently) and then
she would seemingly lose the Mm17°® until the 71°n1 127; or is she divorced the
following year (as it would be if it is a Vw9 v3), and we need to understand why is
she not divorced currently, for since it was a p» vi the intent of the husband was

to divorce her now (even though the 117 is a year later)!*

3. Why does not mooin ask the same question on *" that a 9mR» V3 should be 7105,
because he can be 75rn? When he gives her a amxn vi before the date written on
the 2vw, it 1s obvious that the date is invalid; therefore the woman can claim that
she was divorced before the mar took place!”'

'* See X"wmn.
"% See footnote # 8. That it is as if the husband stipulated that the 1w171°) should be %71 on the post-dated ya1.
0 See n"m1.
21 See Har 7"7a 7¥w NIX "D
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